SRS 108% 234 4HY

Y
REENALZAR CRARE 2 hHRARE lﬁ‘éﬂ?
A

AR R A AR Z SR AR R YRR
R R IPEAR B R
ES B olw F R
el SR
5i pz%gﬁ: e (40 EAREE R ERSF2)
FRpE Rl P B

BOLR P ORMELE - ERA RE - RIS By g & o ATE lfg—;f’;a%ﬂ%*%\
OrfHR % 50 180 5422 4 0 7 2B A gt b RATELE R lse AL TRE 02 A A
(_)}Z*L,é’#g':;—‘—'-sﬂg

1 MBI ERT A BUF AR R E 2
WILEZ BRETEG R et ME TR BT TE e RIS EaR R A B &
O EIHE&ERALT » FfTB e RIEE DREGE TR R AR F R
2 REBAERCORE - MAE BEREER w2 &5 ?
WEFAH BHENBEARE Z S
OF &R Z RO HY D& RAEFE IR Z 52 H
3 ERMATBUNTE - N ETT 2R T8 2B AT LVEUL (R AR AR Z BRI 2
WEEHEHH B AEHH (OFIFA D EERE
4 IREDABTRET S 414 SERR R T - o R MY A B RER] 2
W =5 H A BFZFLHE O ERE (DR HE
5 Fé%ﬁ\ ATEATE Z PRI P - BRI & $EE5 2
N2 NP Z FER BRI E AR e KA ROR
<C>T§X/£B%:2&—%Z%¥UZT%%U DB x&ZT&T&Z

6 (KENAAEBE B ST H B2 > TR R 2
WEZF BN EG T - A REREZ S FEEDIBEFET 2 &5
®ETEHHESHER  FBERREH &R - HEERIECEREZIFEA AFE
C)%sz\ﬁig?%%@ﬁéz;%i SHELL T FiREE EEEOTHE L | BITRZES BT ERT
g LA
O EEF I T AN BRI E S 2 Eet B RIUE - RIDEAE R EEE - BEA N AR
7 ﬁ%%ﬁb%Z%Ui TEer s ER 2
FEREE N RSB —IR
B))\Ejﬁ TEH R A S EI AT EfT{HEE R
OANRBUINEZE NS N E BEE o (CEER
O EE A B A 1 5% - 88
8 E%EA ORBAE 2B NERS > YIRS B R 2

(W ZH B P R B RS (B) LA & B o R FE & Ry [R
CZAF 20 3% (D5 LA e — 2D A i At A PR A

9 IREAWEGGRE - IR &5 ?
() HEA Ko et G B o B\ R B BTG BB B FE RS ST Bi g R e <
BEEE AT BT o1& 10 HAEFE SO LARTIERS
OFERI LA BT TR R ZAMEEER 10 BN > K TBEE R » SESMEIOLIEAR
(D) AR - SEATTERS 3 {8 H PUfEfa(eEE A > LA

10 ARTEEB R AERAYRGL » MIFE R 2
WITH S E T E R AEE G CBBEE - BT R F RS L
BITEEh R EATEIE ERE AN E - ERA —E ZERER ﬁﬁ%fé%??ﬁ—ﬁaﬁig{fﬁ/ Z IR
OFfTEbebe R R - LRI Z BRI - R BT REER - AEBREEUEZEA
OTE e RN IR Z SR EE - RIRIEE > MBEEER RIS T s

11 AREILEZEERTH T?U%ﬁﬁﬁ%fﬁ:ﬁ ?
Wik " BB, 0 SN - —FEE
B ET 45 il _F BRI Y B » (R BRI K
OB EL 2 1EHR S > SHEEELE Fﬁtxfﬂ&ﬁ’}:/\z—
DRERILAZ BIESHRA DA ECR R



1

N

13

14

15

16

17

18

19

20

21

22

23

24

i~ g 23201
Fo=x 14-2

REEEFNAG AR E#RE > MYIRINHAE ZROL - (a&shas ?

WHEZHEEBR " HTAE

BILAZ AEH AR - Ay s H a4

OFERZEZF; - FAEIDAR =isE

DEE TR ZIF LT e ERBURE E R - TR R AR IL AR e R &
IEIAEALIEE LS 80 RATHEZIAE 7

WABEBHREEEEE OREE ORI TBUERGAE DREE
EEREHEN - WINEEA A RS2 MEE  SRRAMBEEZ5EEE - SWEREUZ
RS AMRE - BUEREIERAER - BaR AEE IR - ERATEEARRE (R MY ?
WIERGHES R FARES - HEAP B ZHHER

BAVHES S FARES - HaJRER B ZHHER

OEFEE R AR ARERS » HlRe BRI ZHHEER

DA e R FARES - HBERPE R ZHHGER

HEAREOEEL - AEE MR ZE 7

WELABEARAE BH & ERT Ofe={TBUARE D= ARE
?E’%ﬁﬂ%%ﬁé\%ﬁﬁﬁiﬁ%éﬁﬁ% BB IR RS SR o HEIE e DERBARTEEY P - fAfE 1Y
0 7

WIFEPSE BEEVEH OLLBI=FE D
BRI AT R IR A Z FE - THIRGI A E SR ?

WHT B R E SRR R IR » (IR EAE R SRR R « TP IR Z IR - ST E R A
B ZHAR HIE R Ze SRR 2 E 1R 387

O ZHARARE AL E SRS w2 M 51T B0 R 30 H 3R

DZHARAIELREE ~ AR ~ PIUASEEZ HIGEEG B G iREIRAE# - S5

T RRE N AR ERBEANZ SRR TEAT, & TERT K

WEEEFT (B ZEEE (X P CVEEFRT D17 (P
ﬁgﬁ%zﬁﬁﬁlgiﬂiﬁ A TR EE R BRI AN 8 48 ZJUTRTT Ry 0 NAIRIE W B A R R E Y R 2 (R[]
SHIEK A 2

WTEPRE S RIF BN R 22 1% A B FE R FAE A 4/ fa S T ER s

O =il SR PRERY H A2z A (DVRE o i A A A FE A H AT ZE 1 A

R 2 RIEFEREASE 25 (R E & RIEBFRES > BHiRlg A2/ D& 5 FEE—R FREEZ/DE?
® 10 &£ B 15 £ ©) 20 (D) 25 £

RELEBEAREERRE - NI EES FES 7 RREARPEEZEE ?
WHTSHBUARPY B TS 25T R > AETRr BTG &N 2028 AT A ESTFREARS - 15 LAY ER e

HoM 7 =UR PR
BFTHRTE AR FAH 8 5ok JE ZH R 20 R e 60 pRARTS IR R 2 A E

OERFERE - A RMZ R EER HBR e H R EREE A T 58
D &L BEBEE (REEARUE » FEAREFTIE LR Rt - NS IESHEESE
ZAERARRZEHE > EEEANZ—T784% > PMTAESER - SSMmAISERAT - ZERARZ

kG
O ZAERR A E IR BZA LR A EF
OZR{ERR A R 74 DZAER R BEE - KT EREAZBEEZL

}gg%ﬁf\gfbt?ﬁ B EBEE > ER AMREIASE 1156 (RE EEEEMPRHART o T U EE A&

B2 BRE ?

(A>i§?ﬁuﬁf’ﬁ%5ﬁﬁ*ﬁﬁﬂﬁ ~ (E{H 200 EchV#ELRE—i > 5T 2 0 mZE7 100 &t o
W ARE S

® A FTLA B — BN > ST ERE 100 S TP > WAV ERAMR Ay 12 45 > HISETH > P2 SiRERA
FREJE A > ([HEG R

OFARID—REFHETEREAT - 1T & 100 5T 5 FIETE - mAREE 100 & oES

(D) BF A i e R FEIR A A —BE > S H 200 BT > 7 2 (B H  BESECIREEHES 3 @A - (HE
KA B N EE 200 EyrHy eSS

-~ Z WAL = ABEENSEE LTk LitaEl A L1 L2 X L3> HEF ~ Z ~ RaaliR

Fr S E R A TE - TR EE ?

Wiz L {53 Bl BN 71T Ay

® 77 ElfhR s AR E

Otz - HERoE SR EYIRESEEI 2

O ~ 2 ~ WENEZ sl Al L1 ~ L2 ~ L3 ZFratE



EL

B =
25

26

27

28

29

30

31
32

33

34

35

36

37

38

39

40

3201
- 4-3

RERERE > MHIRER AR Z FE Rk » {7 TEHE 2

WIEREZ (A7 - D8 RIRRTE - A ANGHRKEENE  BItAE > S BT E

B FEEMARERF > RS ZHE > A HEEEAREZ A

OFIERZ - BEBEFEE 2 — 13 HEERY

D EJEHEIH SR - N 2 SR TR

REERITAEPEAS 15 RS L HZAUE - LR eEEARm _EHRES  RIEETERIER?

() AT ®@ﬁ%¢1¢1%?%@55
OFFEA I T > TR 1 B OfEEAE R TAE TR 10 O

HELZ 4508 10 £ 218 » A BB LAWK HISRITAECIE Z TR - BN SRl
NHETH A 2 LR AR > (g 7

WH ~ ZH ISR

(B) R AT 3 Z 3 oKt e _E IR R

O Z5E KBRS

O SR MRS - AT L5 RIERV i

WREAFREEZRUE - THIERER "B, ZE& 7

WEFE R AR A A R ®FFEFE SR AL A R E

OFFEEIR I E 45 LR AR AR T #K O FE BB R AL A RO 8
%%“éﬁ@gf T EATHER K EER K b THEEER T > I EEREEET - WA T
MOE » BREE LA - EHM%%K’E%Eﬁ%—%?

M1 E (B)2 F ©3 D)5 F

A RE] 92 42 9 AREIPILEEREEIENE » (KE] 96 4 9 Hia@ & YE » TRl o] & 1EHE ?

(&) B FERS RN R s SR

(B)FH 7 FE5 SEIE B 5k - JERMH b —38
O 21T RIES 21T REEEDEST » S01T i By
DHERHEEREAE B—IESE#EGE

George emailed me and | replied. We began to , both of us were cautious at first.

(A)correspond (Blcommit ©comply (D)compress

If | file a complaint against a doctor, will my identity be kept so that my name won’t be revealed?
(A)unambiguous (Blunconscious (©comprehensive (Diconfidential

Everyone is supposed to be equal but I’ve heard a great many men make unfavorable comments to embarrass
or women.

(A)accommodate (B)subordinate ©intimidate (Deliminate

Pasteur attended a famous school in Paris and soon with his research.

(lost sight of himself (Bmade a name for himself

(©caught up with himself (Dtook advantage of himself

The taxi driver was obviously by going through the red light, and caused an accident.

(Abuckled up (B)in the wind (©geared up (D)in rush

Tim doesn’t know English, so he has to rely on his wife to everything for him while travelling in
America.

(A)transfer (B)transform ©translate (Ditransport

My father had to work outside all night, and the whipping bitter wind made his hands red and

(A)chapped (B)spoiled (©tainted (Dwrecked

A majority of unemployed families depend for their survival on the financial that was offered by the
local government.

(A)shortage (B)souvenir ©subsidy (D)surcharge

Even though Jason is complaining about his current job, he is to quit until he finds a new one.

(Wreluctant (Bireverence ©reminisce (Dreciprocal

Like human beings, stars have a full life cycle. Born out of interstellar clouds, stars go on to have calm
and lives as adults, and then die quietly.

(A)steep (B)stable (©)strange (D)staring
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More than 320 million metric tons of plastic are produced every year — and a disturbing amount ends up in the
ocean, with much of it 41 in places like the Great Pacific Garbage Patch.

The Great Pacific Garbage Patch is a massive area measuring more than 1.6 million square kilometers.
Researchers from the Ocean Cleanup foundation conducted a survey of plastic in the area, using planesto _ 42 from
the sky and boats to trawl the water. They found that the amount of plastic there seemed to be increasing exponentially
and that there could be 16 times as much as previously thought.

There’s far too much plastic in the world’s oceans, and the problem continues to 43 . Every little bit of
plastic that gets tossed into the ocean or swept downstream out to sea either sinks or is picked up by currents. Much of
it is eventually carried into one of five massive ocean regions, where plastic can be so 44 that areas have
garnered names like the Great Pacific Garbage Patch.

There may be more than 16 times as much plastic in the patch than previous studies have 45 , according to
the researchers behind the study. An aerial view of the Great Pacific Garbage Patch might at first appear to be open
water. But inside there is debris from all over the world — debris that traps or is eaten by marine animals, filling up
their bodies to the point of being fatal and tainting our food supply.

41  (A)accumulating (Bcommuting (©astonishing (Dcommunicating
42  (A)preserve (Breserve (C)observe (Dconserve

43 (A)put away B build up (©go down (D)itake off

44 (A)continued (B)conducted (©consumed (D)concentrated
45  (Aaffected (Bladopted (©estimated (Deliminated

AT BB S 46 FH £ 55 50/ ¢
Researchers at Vanderbilt University decided to find out how intelligent various animals are. To rightly compare brain
power in species, it isn’t enough to weigh brain tissue. You must take into account the brain relative to the organism’s
size. But this may fall short of evaluating actual intelligence.
Neuroscientist Suzana Herculano-Houzel said, “I believe the absolute number of neurons an animal has determined the
richness of their internal mental state and their ability to predict what is about to happen in their environment based on
past experience.” She and her colleagues found that meat eaters have about the same number of neurons as plant eaters.
That means plant eaters need as much brain power to escape from predators as meat eaters need to catch them.
How do cats and dogs measure up? Previous findings had cats ahead at 300 million neurons to dogs roughly 160
million. In this latest study, however, dogs were on top, with 530 million neurons to cats 250 million. Just for
comparison, humans have around 16 billion such neurons. Even so, dogs were way above other meat eaters in the brain
power department.
Having a bigger brain has a downside, researchers have found. “Meat eating is largely considered a problem-solver in
terms of energy,” Herculano-Houzel said, “but in retrospect, it is clear that meat eating animals must impose a delicate
balance between how much brain and body a species can afford.” This may be why you often see large predators like
lions and bears dozing.
46 Which of the following phrases is closest in meaning to the word “species”?

(A)Various food. (B)Various eaters. (©Various animals. (D)Various brain power.
47  What is the main idea of this passage?

(A)The ratio of the brain size relative to the body size of an animal is a good measure of intelligence.

(B The number of neurons is an absolute measure of an animal’s intelligence, be it a plant eater or a meat eater.

(©The number of neurons reveals that plant eaters are generally smarter than meat eaters.

(D) The ratio of the number of neurons relative to the size of an animal’s body can indicate how smart the animal is.
48  According to the latest study, which of the following statements is true?

(A)Dogs are much smarter than most meat eaters, including cats.

(B)Cats have more neurons in their brain than other meat eaters, including dogs.

(©The number of a cat’s neurons can double that of a dog’s, and that makes cats better pets for humans.

(D)Dogs are quite intelligent and they have as many neurons as humans do.
49  According to the passage, why do plant eaters need to have strong brain power?

(A)To find sufficient food to maintain their brain power.

(B)To predict possible danger to prevent themselves from being eaten up.

(©To predict possible food sources to support their relatively larger body size.

(D)To find safe places to rest to conserve their energy.
50  Which of the following statements can be inferred from this passage?

(A)Cats are more intelligent than dogs.

(B'Large size meat eating animals tend to sleep a lot.

(©Plant eating animals tend to have a larger brain size.

(D)Dogs and cats are suggested to live on a vegetarian diet.
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